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1. f=faRaa & @ fopm 31 & afe w1 wgelt IR Iu=mT fohar T o
ATHYTHTT T
In which of the following age copper was first used ?
Chalcolithic Age

2. TfTRad § | fohd T W 9UW Sig T 1 SATATSH fehal TR &1 7
TR
The first Buddhist Council was held at which among the following places ?
Rajgir
3. fmafciRed 4 & % 98 =afh & fSer W et feeed’ off o 2
Hi THTe 3T

Who among the following is the person whose name was also ‘Devanampiya Piyadassi’ ?
Mauryan Emperor Ashoka

4.  HHOR R e S (Rem-g) o1 Ui qeer 1 SST8 &1 wm o G H 98d AR
73T |
ESTEl
The pietra dura or coloured stone inlay work on marble became very popular in the days of
Shahjahan
5. 9 I ST U Shl TATHAT g8, e WRA W mfeiaa o & ferseht wmam o 7
YTt 941

When the East India Company was established, India was ruled by whom among the
following ?

A Mughal Emperor

6. VEH-UTHH TGleH HHfeiad # & foheeh g1 3% fepam mam & ?
forraT W

The Bhoodan-Gramdan movement had been started by whom among the following ?
Vinoba Bhave

7. TE THH IET & e, Fefailad @ @ form Amiioies iRt 4 MEfist B 3! i shad
&N b HITA o W& o 1T TSt foham o1 ?
FHHATGET ASIATEAT

During the Dandi Salt March, which among the following social activist had persuaded
Gandhiji not to restrict the protests to men alone ?
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‘ Kamaladevi Chattopadhyay
8.  UgATE ! Ugell T ANt frefoifad # 9 ford shifd o a1 g8 7
SR hIf
The first clear expression of nationalism came with which among the following revolutions ?
The French Revolution

9. TR % ffefaa o @ fora siffm = R se8 9 fig wid o fmio g 2

TRd TR ST, 1935

Which among the following Acts of the Government led to the creation of the Sind Province
from Bombay ?

Government of India Act, 1935

10. wfrg Ig 1910 =l foeeft’ fopam feam o ¢
ATy 95 919
Who gave the famous battle cry ‘Chalo Dilli” ?
Subhash Chandra Bose

11. foa 6t wag 3= =1 718 T o e fRa ? |
AuTe IR forsma

Mount Everest — the highest peak in the world is located between
Nepal & Tibet

12. freferfiga & & ara & “3teree <ht TH 1 gET HROA R 7
I ATEAT A ST I 9=

Which among the following is the main reason for “October heat” in India ?
High temperature associated with high humidity

13. R g qa Mfe e g7 (GMT) 9 IR |
sési%

Indian Standard Time is ahead of Greenwich Mean Time (GMT) by .

5l hours
2

14. TafaRad § & ®F SHeE o @ ywifad s are sfie S T8 & ?
T bl IueTeTan

Which of the following is not the economic factor for influencing the population
distribution ?

Availability of water

15. Tr=fcifaa 9 & forg =16 1 “TogR 1 9ieh’ T A1 2 ?
Easi)
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Which of the following rivers is known as the ‘Sorrow of Bihar’ ?
Kosi

16. WA <l vasTa A3t st Sifaw wiepfa Frafefaa § & forae gra & s oft 7
¥ forepm uftwg

The final approval to the five year plans of India was given by whom among the following ?
National Development Council

17. Torelht oft foremrasfiiar steiegereen & arfyres =won 8, stfrepiy wiafafmt &7 9 gafud
BIA 2 |
eIt

At the initial stages of any developing economy, the majority of activities belong to the
sector.

Primary
18. T=faiRad # @ = 1 g shife shl WHIT o1 fewam o1 ?
7z Tt

Which among the following was a part of the green revolution strategy ?
All of these

19. T=faiRad © | & Te AfTSaeh &% T8l & ?
Rresht

Which of the following is not a Commercial Bank ?
SIDBI

20. frferfaa & @ &1 @1 G & H1 UHH THG o dad Teh {9 I UG hich TATiUd
g
Aenfaes fm

Which one of the following public sector undertaking is established by passing a special law
under Parliament ?

Statutory Corporation
21. YR i T4 HrEhl # F=fafad ¥ 9 w8 mie & & ¢
TSl o Eawst
In the Union Executive of India, who among following is not included ?
The Chief Minister of States

22. % e et AR B AT H ARE R |
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A I 3R 3= =A==

has/have the power to implement the Fundamental Right.
The Supreme Court and High Courts

23. 9Rd H, TP aHaTieR 3t fefafea O 9 fohm mamem & e @ 7
TR AT
In India, The National Human Rights Commission is under which of the following ministry ?
Ministry of Home Affairs

24. Tafafga § o o ford) shg wfaa vew § 3= =T TfUd s 1 SRR S 7

HEq
Who among the following has the right to set up a High Court in any Union Territory ?
Parliament

25. Tforfiaa o & & o1 =ee WA Sfaa § qaie =T 6l AT RIS IR A 7 ?

Which of the following article is about Establishment and constitution of Supreme Court in
Indian Constitution ?
124

26. i <1 1 f=ferfga # @ ferg it 2 2
3G A9HH

The colours of the stars depends upon which of the following ?
Its temperature

27. Ty=fefaa § 9 o5 o fg e arfifn o fog feer e 2
gy g

Which among the following gases is responsible for global warming ?
Greenhouse Gas

28. =IEITET A IRR o TmfcTRad 9 & fopd 377 ol wwTferd shea 8 7
Hhe
Pneumonia affects which of the following part of human body ?
Lungs

29. TrefcTRad § | I &1 el Qg 8 ?
AEA
Which among the following is not a plant fibre ?
Nylon
30.  9TCY hifsrent Tt ffeiRaad o & ferag s Bt 2 7

Plant cell wall is made up of what among the following ?
Cellulose

31, (521x632)-2.9272=
30
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(0.05)*+ (0.41)> +(0.073)>

(0.005)% + (0.041)2+ (0.0073)
100

33.  40% ARk THFER-TF X 9gd 8 31X 50% =k THER-TF Y 964 7 | 10% Atk Sl qurem-
9 9ed & | Toha Atk 1 | § his IHTEIR 99 el Ued & 7
40% persons read newspaper X and 50% persons read newspaper Y. 10% persons read both
newspapers. How many persons do not read any of the newspapers ?

20%
34. 5 TN 1 37T 46 B 3T U8 IR HT 45 7 | di=di IR R ;

The average of 5 results is 46 and that of the first four is 45. The fifth result is

32.

50
35. /298116 ++/77.44 =
14.26
36. ‘e’ wieg %1 wEl Wik forese waTgy |
g + Ry

37. o fersheu o srsg -3 o1 31— e el i B 2
HIGd - Afqe AR - Taeaifera
38. foru forehca & Teft vrec o waia=h @ 7

areid, TEMoft, W

39. Torg faeheq & Tt facim-gm 2 2
I - Juad

40. “GITSH IATE T — HaToR 1 A 7 :
JGHS T Shl BT LT |

Read the passage carefully and answer the corresponding questions : (Q. 41 and 42)

Last week Caroline went on her first deep sea fishing trip off the coast of Catalina Island. She had
always enjoyed fishing when she was a child but had never gone fishing in the ocean. Her dad
liked to fish very often. Her big brother Jack was never the outdoor type, so her dad took her out
often. One of his favourite spots was Lake Isabella, which was about two hours from their home.
She recalls how she and her dad would spend a long, leisurely day driving to the lake, and then
taking his small boat out on the water. It was quiet and peaceful for the most part. Those
memories remain some of her most cherished moments of her life. Caroline has a friend called
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Robert. On this day, Robert invited Caroline to join him on his company’s fishing trip. Robert
said it wouldn’t cost much but would be a lot of fun. He knew Caroline enjoyed lake fishing and
figured she would have a great time. “Okay”, said Caroline, and to the ocean they went.

The first thing Caroline noticed, however, was the motion. “Wow, this boat really rocks”, Caroline
told Robert. “Don’t worry about it. You will get used to it”, he said. The trip to the waters off Catalina
Island took about an hour. Caroline marvelled at how quickly she lost sight of the mainland. It was a
bit scary when she thought about how alone they were in this great ocean. Soon, it was time to collect
squid for bait. The small boat stopped in the water and the crew turned the bright light into the ocean
to attract the squid. Before long, thousands of squid rose to the surface and were collected for bait.
After about an hour, Caroline didn’t feel the rocking motion anymore. They were ready to fish.
Caroline caught her first ocean trout. It was a beautiful day.

41. Was Caroline’s brother an outdoor type ?
No

42. Why were the squids collected ?
For baiting

43. Give synonym for the word : “Partial”

Incomplete

44. Choose the correct antonym : “Disappoint”
Satisfy

45. Give one word substitute for —
“The practice of writing, editing and /or compiling dictionaries”
Lexicography
46. T gl shi TR I L Y, Tor= = haT, “T8 B Ieil & a1 shl sehaiid! Fd shi gehatit
931 8 |” Afgen fror & for yohr wafra 7 7
oAt

Pointing to a woman, Nilesh said, “She is the only daughter of my wife’s grandfather’s only
child.” How is the woman related to Nilesh ?

Wife
47. 3AEA 3T B /Find odd one out :
8,27, 64,100, 125, 216, 343
100
48. 1 SHeRT, 2006 1 YR AT | 1 S, 2010 =h1 HTE 1 ohi< &1 fed o7 ?

RIEEILN
It was Sunday on Jan. 1, 2006. What was the day of the week on Jan. 1, 2010 ?
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| Friday |

49. Tr=ferfad wom o sem fouw e € 31 37 Sl & a1g frsepd feprt mu | frsshet Wt U@ 37
g L fop feu U frsspat & @ o @1 Freed g ®9 @ 39 a2 6 warg feey famr feu g

T BT TTieheh ®Y & STTERUT HdT 2 |
%o : ft foheTel TR E | B8 TR A § | B THA holst 1 |
e
I FS A haE g |
. F9 st IR E |
. %o fhad sHa @ |
IV. %o ferare Sheiet |
STH € HIg T8I

In the following question statements are given and these statements are followed by
conclusions. Read the conclusions and then decide which of the given conclusions logically
follows the given statements, disregarding commonly known facts.
Statements : All the books are papers. Some papers are journals. Some journals are calendars.
Conclusions:
L. Some journals are books.
II.  Some calendars are papers.
III.  Some books are journals.
IV. Some books are calendars.

None of these

50. Ife NORMAL i RPNLBM s &9 T shifgd feha1 ST 8, @ GATHER 1 ShI 91 81T ?

If NORMAL is coded as RPNLBM, then what is the code for GATHER ?
TBGRFH

51. T=fciRad § | fop €1 o STieh A T8eT i YoT dar fhan g 2
EENERH

Which among the following country’s scientists have prepared first synthetic embryos ?
Israel

52. wuMEA g @ 3 fafatea § @ frm os9 ¥ 1BX (i servHe g wweEs) |
frama ?
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Prime Minister Narendra Modi has launched the IIBX (India International Bullion
Exchange) in which among the following states ?

Gujarat

53. frafafea & 9 foeg <1 3 3R, 2022 § A3 & HATHUTE 39T 37 qh T T8 §S1 A
1y fepam ?

<

Which among the following countries conducted its largest-ever military exercises around
Taiwan in August, 2022 ?

China
54, 37T, 2022 H, YR i Ugelt STSETe Al ol 3gareq ffaiad d § forg sre & fopem mam e 7
BB
In August, 2022, India’s first underwater metro was inaugurated in which of the following
cities ?
Kolkata
55. YRR BT A TS, 2022 § ITHeh Teh 3Gt TR SUUE TER 3THATH T SARSH
fepam o |
ThIglge
The Indian Army had conducted a pan-India satellite communication exercise
named in July, 2022.
Skylight
56. TR o fohel €1 IT&X b StE “3Teh@l T <6l Ugel! SSM i 3guTeH foham =1 7
HE W JgHETG
First flight of “Akasa Air” had been inaugurated between which two cities in India ?
Mumbai to Ahmedabad
57. STSICI %1 3T Helcad % dgd §¢ =al M FefaRad # & frd Fgla wae™ g &
fpam g 2

-
‘Badhe Chalo’ campaign under Azadi ka Amrit Mahotsav has been launched by which
among the following Central Ministry ?

Ministry of Culture

58. Trferfiga & & form 1T 3 Rl ST Srenfieh! spt 31 9 o fTU < Al4Bharat # Hicteruft shg’
FEIEH R ?

IIT "g1g

Which among the following IIT has launched the ‘Nilekani Centre at Al4Bharat’ to advance
Indian language technology ?

MASTER 9 04



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

GET IT ON
Google Play

IIT Madras |
59. form Sl W=t Y sremeran O wEig H Aefich qaneti Y qeRt 3R TP g W T TP
FEIE ST fehel TIT 7
fHa g
A National Conference on Drug Trafficking and National Security was held at Chandigarh
under the chairmanship of which Union Minister ?
Amit Shah
60. T=IfTREd & | M &1 TsT AT § T8al B E ST’ JHTI0M T3 59 T 8 7
Ta
Which among the following states became the first ‘Har Ghar Jal’ certified state in India ?
Goa
61. fr=fafaa o @ & yRa HT IS g Ad 2 7
Jui
Which among the following is not a neighbouring country of India ?
U.A.E.
62. Feafafgadagi R g ®nz ?
What among the following is the national currency of Hungary ?
Hungarian Forint
63. TG % STE WINT 3 ML T & YA o Tg U T ATH FATsT |
3TY W
Name the first state in India formed after independence on the basis of language.
Andhra Pradesh
64. Tl [T H Ug LU hid shi =FaH Y 7 |
2598
is the minimum age for holding office in the Lok Sabha.
25 years
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65.

U S fafaerar feaw fora ariig =1 TR STAT R 2
2298

International Day for Biological Diversity is celebrated on which date ?
22 May

66.

fafRgq A g s A fora FasR SFSTA G 8 7
ATt i

Which among the following is the largest river island in the world ?
Majuli Island

67.

i Fraforfed 3 @ frg e FT oAIs T R 2
IR T

Nautanki is a folk dance of which among the following states ?
Uttar Pradesh

68.

I A affd i gee . HE |
el

The headquarters of International Olympic Committee is at

Switzerland

69.

frefafaa 9 9 ferem wltg g “ured 3116 g urge’ foredt 2 2
Tt ferehig
Who among the following wrote famous book ‘Powers of the Mind’ ?

Swami Vivekananda

70.

UNFCCC 1 379 Frfafga g g @ g ¢
FATSCE AN ThHeh HraiS 3T FATGHE o
UNFCCC stands for what among the following ?

United Nations Framework Convention on Climate Change

FrfaRaa 1geeg ! SIMYES Tgeht I8 T T (1. 71 8 75) % W N |

T TR o Gid IS 1 & A1 el ST 2 | |ifged gl TuTst ol I9iferd s 8, I8 98
o § grfad off a1 8 | SAfh TE 3T A1fEeT Sl Shl T Rl § | ETeeT ¥ E B A
TaeTett 3fagma St IHw fierdt 2 | I I &1 wifge 37a I % wfasfier foam gra fopedt 3
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fopelt w0 1 stervy gwTfad BT 8 | Wiiect g9 hiqeet Te T g 3l s <6l foamen =1 g6 e
? | Tifec & & foreht g 1 sferema, wiivm, wwepfa it @, ot & qai & foawi T e,
e Gfd-Tarsil, wa-ged 3R ot 3fe st SHesri ITH Bt 2 | for® shrer | o1 o fopg Wi 8
I Tt T St STt oft, 36 T S AT T off, AT HH AT, "rTieres 37N enfifes foam A
&, I8 U9 $B IU THA % HIEed AT U T Bl B |

i TUTS 1 U0l 8 - 368 TR 9t ¢ fob anfecs Tm =1 7 haet s S b g,
1fuq TuTs % Ui 98 31T erfea fratg off et 8 | v O Seft afoear, swrsrear, T S
AT el o GSTHTET i Tifeed g & wersff &9 # R wHe o 7 | it wfeea i snfewra &
TR I hTeT deh Uad TT: At THA13T GRT deshlen= TuTsl o1 itfefd, foem o srf smam i
Tl STeRRI T Bt ' | 9% oft wel § T Ife Afecy aaa W shae 9WIS 1 g BIAT, 1 i A1
Trfecrehr quTs <t fermfaat 2 fogsmnett W yer &l ar 3R 38 arufaa foem sty ¢ % forg ot
T3 & T | THIS o Ufd HTfecdeh T hl Slficel ST hl TR T, IcETE o hasqaly i fesm
&1 311fe B | ST Tt & oot TS ek o TITecIh Rl <hl F8l TRl o & 2 foh gumet i s
T FHAH J F@g AT g Td i & HedTiaed H1 TR ¥t f8 7 gear 7 | anfeca & 97
itk 2 <11 a9 i dorar | off T aelt |

71. ©IfEc 3794 gIfica <l fafe fobm SR g shtan ® 7
ST Shl HTHA AT

72. @ifeca gh form g @ quet e s SRt et R 7
T 1 fergrd, TRET, Gehle-arr, qesi % SR, FTEUM Jfe dehrel arfee g &
I TR 2 |

73.  HIfEcd shael GHTS 1 U 941 A8l 8 ?

Fifes AT grT TSt I forgaarat iR fommfert W yar Fteh 378 IR M it SR
HIA R

74. S TS ST Gaitieh 3td s o B HehaT 8 7
Tfee 3R T

75. HEIRR THTS o Jid 379 7 1 hd IRYUl HLAT 8 7
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ISR THIS § 7T il GRT ST T FIR T & IR IHTE T HAealg ol G

g
FrfaRaa I1g=eg ! SIMYES Tgeht 8 T T (7. 76 ¥ 80) % W GRAT |

T Shl ITTEET 9ith 8 3 it “Ta gdeht W oot I &1 Hiel” 8, AT 98 BN 1 77l g,

e et I e T 2, e R T A FE S A T @ MR HET R | HE
TeTeh, I, T, T6¥ Ieid-Thid, 33d-33d, Wid-11d, Wed-%ed TR H1H hid §Y I8 LA AT T
IR T Hd-hid Fey frgr foram o a fopamn st &1 | 9% gy 't wver W foqu & -famamfor
forg gan 8 | gu ol o fore 9 &) forg &1 | W 3 srfeie o amd fvamn e R Saan € an o, <ty
T YT W T & TAH” 7 | 72 9 SRR qragrt @ T @ B I TeohdT 7, T 3T AT i 8]
3ad oft gaeft 3 | S 9 foR = R | oer-vet Tnem @ & 3ue <9 B § | wife T % et ool
T 39 <8 T 31EYE B | IGehI healol HedT &l <hl ST Hehell & | SR <8 gRT IR H sl HIATEhR
IS TR BT | 37d: 3Td | HGT o SUAN <hl STadehdl i 18 &1 Sl & | 361 § 3Aean Ty & doat
ug} | 9T % | 378 e Ue g7 fob 31ae Ul H 37 Aol Hehel bl |y A1 39k TR S AT HE
T2, 98 hldl ST 3T 31 ¢ | 394 <@ foh 713 ohid T W 98 317 781 §igdl, cl-shl-ct W& &
ST 2 | Tohe Hgeht 3T d1 9@dl & Tiiehd Ugdl gl A1 H 38+ <@l foh 58 gcg <l 38 a1 8 98 91
& B, dfceh WAt @ | FHIFAY SE-AH 1= HLdT AT 2 dH-d8 I8 11 T&dl A1l 2 IR T g geal
SR |

76. TS=Tg 1 T 9 SAfEET % UY W FeAd qU Hehel 1 HIHAT hd HTAT AMET ?
Gehel shl Tad U iRt mer fordt fom a1t @ =nfew |

77.  Ecd N ATEHT o " w1 ‘3ATY hl TR W el o GHE G §qE TR 7
Fifep e 3N ATEET BT qET fTq-T e 8 Iq41 &) 97 8 SR 39 9l IR FedT A hied
2

78. TIEYT TWHIS shl Ted - ioT sl ITH i o foTu A T sl Hehd & 7
3 gt

79. TR H “feRETg” Sreg 1 A A1 foretiy vTeg TF 3N 8 7
U
80. T < AATH H hl T =TET ?
FGTIG i : TR % A 9 37T §¢d §U 36 T T ATHTHR . |

¥ E. 819 85 : ffctiaa aTfeTert ST 318 L 3TN 37 W IMLTRA T 6 WG |

Q. Nos. 81 to 85 : Study the following table and answer the questions based on it.
few e a9t # yiveas w9 & = (g TR 7))/

Expenditures of a Company (in Lakh Rupees) per annum over the given years

m%ua / Item of Expenditure

T/ Yeur a?F-l/Salary S e afteE / 9 / Bonus AT S /

Fuel and Transport Interest on Loans
2011 300 100 2 13.4 85

{ / Taxes
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2012 340 112 1.52 22.5 110
2013 524 105 2.84 31.6 75
2014 340 135 2.68 26.4 78
2015 450 152 2.96 394 88
81. 39 ITATY o QR Ul bl T Y AT 31 STEd TR fepal T Tl 7
T26.66 TiE
What is the average amount of interest per year which the company had to pay during this
period ?
T 26.66 lakhs

82. < TS ATy o SR U GRI YTAM <hl T8 F=H <ht et T, 39 31l b A TdH i 718
I Sl et T BT T Tohaan wfersra 2 7
The total amount of bonus paid by the company during the given period is approximately
what percent of total amount of salary paid during this period ?
0.6%

83. 2011 % 37 |fl Wel W o1 =, 2015 H el AT T AT feheT fererd o ?

Total expenditure on all these items in 2011 was approximately what percent of the total
expenditure in 2015 ?

68.33%
84. a9 2013 % S T TGl W HUH! T Hol = fohar g 7
T 738.44 @G
What is the total expenditure of the company over these items during the year 2013 ?
% 738.44 Lakhs
85. @i ot & foTu ot W o1 =7 3R Teft awi & fofw S 3R ufgeT W o1 =T & &9 &l
STIAT SHAST: ST gl

The ratio between the total expenditure on Taxes for all the years and the total expenditure
on Fuel and Transport for all the years respectively is approximately

109 : 151
YT E. 86 T 90 : Teh =Tk o Teh fed # Ui R @<l 37X 10 et = foru forue w & | arferent =01 9@
3R 91 o I A ¢ | (R b LT 8T (TS T o FHF) i & T T8 W@ T 2 1)

Q. Nos. 86 to 90 : A person bought five cars in a day and put on rent for 10 days. Read the table
and answer the questions carefully. (Standing time for car is not taken as consideration.)
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Fhife ST gL | 10 T % S B gt 7 A & wm
ST T TEAS / Mileage of Car St 3ftEd 9T/ Average %1 @AY / Total time taken to cover
amount of diesel used the total distance which is covered
per day during 10 days
JAteel / Alto 25 fep .. /&l / km/litre 10 fieX / litres 50 &2 / hours
feawe / Swift 22 fep . /&l / km/litre 10 fieX / litres 5552 / hours
feamt / Tiago 30 fep . /ol / km/litre 12 fieX / litres 50 &2 / hours
Tt / Mini 20 fep 4. /&l / km/litre 25 efieX / litres 80 T2 / hours
faas / Kwid 25 fep .. /&l / km/litre 20 efieX / litres 100 &2 / hours

86. 10 feai o < Sfeet 3R feam st sivera i o1 S7ama = o 7

What was the ratio of the average speed of Alto and Tiago during 10 days ?
25:36

87. 3feel 3R fare faw 1w 10 &1 o SR Aot 3fIHa il <l o TTf 8 Teh-gur shi AR A1
wE | e % e, 3 TH-ga o YRS feig 1 SR A1 R € | AfE & § g Rl o o A
gl 2300 T 2, A1 3tfeel 3R e g1 Uh-gER § e o a1 370 TTaed T Tga | o
TS T ST JAL AT HINT |

0 52T

Alto and Kwid is travelling towards each other with speed same as their average speed
during the given 10 days. After meeting, they travel to each other’s starting point. If initially
distance between both cars 1s 2300 km, then find difference of time taken by Alto and Kwid
to reach their destination after meeting each other.

0 hour

88. fewwu 10 fedi & S swr ot gr Sweh 3fga nifa & 875 foh. Y. < o &= # forw e o9
w1 feu w10 Tt & SvH R feawe gra 3geh! 3itga nfa & 990 for. /Y. <ht Imm =@ § fou
HH F AT 1 1T |

Find the ratio of the time taken by car Mini to travel 875 km with the average speed of it
during the given 10 days to the time taken by car Swift to travel 990 km with the average
speed of it during the given 10 days.

56 :99
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89. Afg &l I g 10 ferAt H 7 61 78 HI glI, HR A 3T HR B 3HA: 150 Hel 3R 300 =i H
T LA 2, A HT A 3R B 1 3T it o s 1 3 A1 HIT |

If the total distances covered by all the cars in 10 days is covered by car A and car B in 150

hours and 300 hours respectively, then find the difference between average speeds of car A
and B.

61 fs.1ft. /=r9er / km/h

90. 10 T % GRM feAmT 3R it gro a1 <61 718 e g8t o1 STUTA fehat &T ?

What was the ratio of the total distance covered by Tiago and Mini during 10 days ?
18:25

T . 919 95 : F1 T@1 37Tei@ 1 ST i S 2001 H 2006 Teh B NI o G Tdeh a9 hl
JEIATA § HU | IS B 3T HU DI Tt HUATIT hi T ST 2 | (¥ 2000 % SE T
g HHAR Hu-1 H ATHA F3TT 8 3R 7 &1 0 BISHL T2 1)

Q. Nos. 91 to 95 : Study the following line graph which gives the number of employees who

joined the company and left the company in the beginning of each year during six years, from

2001 to 2006. (There is no employee joined the company or left the company during the year
2000.)

2000 # FH=nReat it wRiw we = 5000
Initial strength of Employees in 2000 = 5000

E £ 800 740, pu—
£ 600 600
£ 600 500 800 2 i

# & 400 55050
ZEE 400 450

= 500 —
8

z

2001 2002 2003 2004 2005 2006

F05—

= / Years
— RO # ST B ST At Rt Ee
Number of emplovees who joined company
— ORI BIEA AT AT i HeE

Number of employees who left company

91. 2003 % ST U1 | HRIA HHATIET hl e of

The number of employees working in the company during 2003 was :
5000

92, fore o # et o 6l qo1 H U1 BISH ATel HHATIAT <h! TE&AT H Ufwrd gig / HHt STehan
27
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For which year, the percentage rise/fall in the number of employees who left the company
compared to the previous year is maximum ?
2002

93. 2002 2003 T HHATIT h1 T H T+ feha wferera <At gig /et 53 2

The strength of employees increased / decreased from 2002 to 2003 by approximately what
percent ?
1%

94, 2003 T Ut T HH i It AT shl TEAT, 2006 H hu-l H T L 9] HHTTET <hl
AT 1 AT fohaa afesra eff 7

The number of employees working in the company in 2003 was approximately what percent
of the number of employees working in the company in 2006 ?
96.15%

95. & TS Ity %GR et oft o & e & sfirer B9 At T Y =Haw T 1 ol
Big ITel HHATT <l AT T | 31UTd fha1 3 ?
The ratio of the least number of employees who joined the company to the maximum

number of employees who left company in any of the years during the given period is
9/13

T E. 96T 100 : T TG T L HL 3R 38 T SN TeHT o TS |
Q. Nos. 96 to 100 : Study the bar graph and answer the questions based on it.

forma ot # oAt g RaeiaT = gaea (am §)

Production of Toys by company (in Lakhs) over the years

2
2

=}
|

FeTE (ATE )
Production (in Lakhs)

[ T S ]
[=IN =]

72013 2014 2015 2016 2017 2018
T / Years

96. 2013 2014 deh RatAl o IcTed H o fawra fRrae feraHT off ?

What was the approximate percentage decline in the production of toys from 2013 to 2014 ?
20%

97. 2015 3 2016 1 3ad Icdte F=AfaRaa & @ fora awt & I % 3fEa I & foapa
T AT 7
2012 3R 2017

The average production of 2015 and 2016 was exactly equal to the average production of
which of the following pair of years ?
2012 and 2017

98. 2011 I T4 2018 H Raei1 o Ieare § e Sherd gfg fehat off ¢
What was the approximate percentage increase in production of toys in 2018 compared to
that in 2011 ?
137.5%
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99, Tusct Iy i g # foret o Ieared | wiera gfg Tad aiferss off 2

In which year the percentage increase in production was maximum as compared to the
previous year ?
2017

100. few e fera aut # Raei=i o1 Icqted feu T a8t & 3Ed Scqre o 37feres o ?

In how many of the given years was the production of toys more than the average
production of the given years ?
4
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